
PC = (–8,8,1) PC = (8,8,1)

P0 = (5,–4,1)

P0 = (2,–3,1)

P1 = (10,1,1)

P1 = (10,1,1)

C = (Nx,Ny,–N•PC)
   = (1, 0, –(1*8+0*8))
   = (1,0,–8)

PC = (0,8,1)

PC = (8,8,1)

PC = (8,8,1)

PC = (10,–7,1)

C =  (Nx,Ny,–N•PC)
   = (3,2, –(3*0+2*8))
   = (3,2,–16)

P1 = (6,0,1)

P0 = (–12,12,1)
P’0 = (–12,1,12)
      → (–1,1/12)

P’1 = (6,1,0)
      → (∞,∞)

P’C = (–8,1,8)
      → (–1,1/8)

P’C = (8,1,8)
      → (1,1/8)

C = (Nx,Ny,–N•PC)
   = (0,8, –(0*1+8*1/8))
   = (0,8,–1)

C•P’0 = –4

C•P’1 = 8

P=(–6,8,1)  

1–t = 2/3

t = 1/3

C•P0 = –16

C•P1 = 16

1–t = 0.5

t = 0.5

C•P0 = –3

C•P1 = 2

1–t = 0.4

t = 0.6

(6,–1)

(8,–1)

P’=(–6,1,8)  
→ (–2/3,1/8)  


